

JACKSON 43312 NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	JACKSON 43312 NON-FEDERAL July 07, 2022, 2:00 PM Replacement of a 48" cmp under NH Route 16B, just 375' no June 23, 2023 Carroll, District 1	Awarded To: orth of Wilson Rd. Amount: Award Date:	234 GLOVER ROAD BARTON, VT 05822 \$434,144.00	Certified by:	PETER.E.STAMNAS Director of Project Development	
	S	ummary of Bidders				
Contractor					Bid Amount	Rank
SICARD INC, J P 234 GLOVER ROAI	D, BARTON VT 05822				\$434,144.00	A
NORTHEAST EARTH 159 BARNSTEAD F	MECHANICS LLC ROAD, PITTSFIELD NH 03263				\$462,372.50	В



JACKSON

43312

					PS&E		SICARD INC, J P 234 GLOVER ROAD BARTON, VT 05822		159 BAR	ARTH MECHANICS LLC INSTEAD ROAD ELD, NH 03263
Item I	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.1	COMMON EXCAVATION	СҮ	50.00	\$50.00	\$2,500.00	\$31.00	\$1,550.00	\$40.00	\$2,000.00
203.11	COMMON EXCAVATION - LRS	СҮ	20.00	\$50.00	\$1,000.00	\$31.00	\$620.00	\$40.00	\$800.00
214.	FINE GRADING	U	1.00	\$4,000.00	\$4,000.00	\$2,700.00	\$2,700.00	\$2,000.00	\$2,000.00
304.301	CRUSHED GRAVEL	СҮ	35.00	\$75.00	\$2,625.00	\$95.00	\$3,325.00	\$75.00	\$2,625.00
304.35	CRUSHED GRAVEL FOR DRIVES	СҮ	5.00	\$100.00	\$500.00	\$152.00	\$760.00	\$75.00	\$375.00
304.399	TEMPORARY CRUSHED GRAVEL	СҮ	20.00	\$100.00	\$2,000.00	\$86.00	\$1,720.00	\$75.00	\$1,500.00
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	60.00	\$275.00	\$16,500.00	\$268.00	\$16,080.00	\$200.00	\$12,000.00
403.11043	HBP-1/2" SURFACE MIX, MACHINE METHOD	TON	28.00	\$275.00	\$7,700.00	\$268.00	\$7,504.00	\$250.00	\$7,000.00
403.12	HBP-HAND METHOD	TON	2.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$250.00	\$500.00
403.16	PAVEMENT JOINT ADHESIVE	LF	245.00	\$10.00	\$2,450.00	\$10.00	\$2,450.00	\$12.50	\$3,062.50
403.19	HBP-TEMPORARY	TON	27.00	\$300.00	\$8,100.00	\$372.00	\$10,044.00	\$250.00	\$6,750.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	26.00	\$25.00	\$650.00	\$16.00	\$416.00	\$20.00	\$520.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	150.00	\$25.00	\$3,750.00	\$52.00	\$7,800.00	\$50.00	\$7,500.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$35,000.00	\$35,000.00	\$39,420.00	\$39,420.00	\$10,000.00	\$10,000.00
529.001	PRECAST CONCRETE BOX CULVERT	U	1.00	\$140,000.00	\$140,000.00	\$196,495.00	\$196,495.00	\$275,000.00	\$275,000.00
583.002	RESET EXISTING RIPRAP	SY	55.00	\$70.00	\$3,850.00	\$69.00	\$3,795.00	\$20.00	\$1,100.00
585.2	STONE FILL, CLASS B	СҮ	5.00	\$100.00	\$500.00	\$149.00	\$745.00	\$80.00	\$400.00
585.3401	SIMULATED STREAMBED MATERIAL	СҮ	25.00	\$100.00	\$2,500.00	\$106.00	\$2,650.00	\$50.00	\$1,250.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	60.00	\$15.00	\$900.00	\$20.00	\$1,200.00	\$10.00	\$600.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	600.00	\$42.00	\$25,200.00	\$20.00	\$12,000.00	\$40.00	\$24,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$16,440.00	\$16,440.00	\$15,000.00	\$15,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,500.00	\$14,000.00	\$2,150.00	\$8,600.00	\$1,500.00	\$6,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	50.00	\$10.00	\$500.00	\$10.00	\$500.00	\$10.00	\$500.00



JACKSON

43312

					PS&E		SICARD INC, J P 234 GLOVER ROAD BARTON, VT 05822		NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$0.80	\$1,600.00	\$2.00	\$4,000.00	\$1.50	\$3,000.00	
641.	LOAM	CY	15.00	\$75.00	\$1,125.00	\$86.00	\$1,290.00	\$75.00	\$1,125.00	
645.3	EROSION STONE	TON	30.00	\$50.00	\$1,500.00	\$41.00	\$1,230.00	\$40.00	\$1,200.00	
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	50.00	\$5.00	\$250.00	\$9.00	\$450.00	\$10.00	\$500.00	
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	200.00	\$7.00	\$1,400.00	\$9.00	\$1,800.00	\$6.00	\$1,200.00	
645.531	SILT FENCE	LF	430.00	\$5.00	\$2,150.00	\$4.00	\$1,720.00	\$6.00	\$2,580.00	
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,500.00	\$3,500.00	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	50.00	\$100.00	\$5,000.00	\$240.00	\$12,000.00	\$100.00	\$5,000.00	
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$1,250.00	\$1,250.00	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	275.00	\$5.00	\$1,375.00	\$18.00	\$4,950.00	\$7.00	\$1,925.00	
647.1	нимиз	CY	12.00	\$50.00	\$600.00	\$115.00	\$1,380.00	\$30.00	\$360.00	
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$47,950.00	\$47,950.00	\$45,000.00	\$45,000.00	
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,250.00	\$1,250.00	\$2,160.00	\$2,160.00	\$2,000.00	\$2,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	
			Totals:		\$383,225.00		\$434,144.00		\$462,372.50	
			Alt. Totals:							
			Totals:		\$383,225.00		\$434,144.00		\$462,372.50	



JACKSON

43312

				F	S&E	378 BEN	CORPORATION IOCH ROAD ER, ME 04489		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

r		-						1	
203.1	COMMON EXCAVATION	CY	50.00	\$50.00	\$2,500.00	\$75.00	\$3,750.00		
203.11	COMMON EXCAVATION - LRS	СҮ	20.00	\$50.00	\$1,000.00	\$75.00	\$1,500.00		
214.	FINE GRADING	U	1.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00		
304.301	CRUSHED GRAVEL	СҮ	35.00	\$75.00	\$2,625.00	\$125.00	\$4,375.00		
304.35	CRUSHED GRAVEL FOR DRIVES	СҮ	5.00	\$100.00	\$500.00	\$125.00	\$625.00		
304.399	TEMPORARY CRUSHED GRAVEL	СҮ	20.00	\$100.00	\$2,000.00	\$125.00	\$2,500.00		
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	60.00	\$275.00	\$16,500.00	\$275.00	\$16,500.00		
403.11043	HBP-1/2" SURFACE MIX, MACHINE METHOD	TON	28.00	\$275.00	\$7,700.00	\$275.00	\$7,700.00		
403.12	HBP-HAND METHOD	TON	2.00	\$500.00	\$1,000.00	\$275.00	\$550.00		
403.16	PAVEMENT JOINT ADHESIVE	LF	245.00	\$10.00	\$2,450.00	\$20.00	\$4,900.00		
403.19	HBP-TEMPORARY	TON	27.00	\$300.00	\$8,100.00	\$390.00	\$10,530.00		
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	26.00	\$25.00	\$650.00	\$40.00	\$1,040.00		
417.	COLD PLANING BITUMINOUS SURFACES	SY	150.00	\$25.00	\$3,750.00	\$30.00	\$4,500.00		
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$35,000.00	\$35,000.00	\$70,000.00	\$70,000.00		
529.001	PRECAST CONCRETE BOX CULVERT	U	1.00	\$140,000.00	\$140,000.00	\$186,800.00	\$186,800.00		
583.002	RESET EXISTING RIPRAP	SY	55.00	\$70.00	\$3,850.00	\$60.00	\$3,300.00		
585.2	STONE FILL, CLASS B	СҮ	5.00	\$100.00	\$500.00	\$150.00	\$750.00		
585.3401	SIMULATED STREAMBED MATERIAL	СҮ	25.00	\$100.00	\$2,500.00	\$350.00	\$8,750.00		
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	60.00	\$15.00	\$900.00	\$6.00	\$360.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
618.7	FLAGGERS	HR	600.00	\$42.00	\$25,200.00	\$35.00	\$21,000.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$25,000.00	\$25,000.00	\$36,000.00	\$36,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,500.00	\$14,000.00	\$2,000.00	\$8,000.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	50.00	\$10.00	\$500.00	\$30.00	\$1,500.00		



JACKSON

43312

					PS&E	378 BEN	CORPORATION INOCH ROAD TER, ME 04489		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$0.80	\$1,600.00	\$1.00	\$2,000.00		
641.	LOAM	СҮ	15.00	\$75.00	\$1,125.00	\$150.00	\$2,250.00		
645.3	EROSION STONE	TON	30.00	\$50.00	\$1,500.00	\$175.00	\$5,250.00		
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	50.00	\$5.00	\$250.00	\$6.00	\$300.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	200.00	\$7.00	\$1,400.00	\$12.00	\$2,400.00		
645.531	SILT FENCE	LF	430.00	\$5.00	\$2,150.00	\$4.00	\$1,720.00		
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00		
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	50.00	\$100.00	\$5,000.00	\$95.00	\$4,750.00		
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$1,250.00	\$1,250.00	\$7,500.00	\$7,500.00		
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	275.00	\$5.00	\$1,375.00	\$2.00	\$550.00		
647.1	нимиз	СҮ	12.00	\$50.00	\$600.00	\$150.00	\$1,800.00		
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00		
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,250.00	\$1,250.00	\$5,000.00	\$5,000.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		
			Totals:		\$383,225.00		\$497,950.00		
			Alt. Totals:						
			Totals:		\$383,225.00		\$497,950.00		



JACKSON

43312

NON-FEDERAL

	- 1	Ī		A-Bide	der	PS8	έE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.1	COMMON EXCAVATION	CY	50.00	\$31.00	\$1,550.00	\$50.00	\$2,500.00	(\$950.00)
203.11	COMMON EXCAVATION - LRS	CY	20.00	\$31.00	\$620.00	\$50.00	\$1,000.00	(\$380.00)
214.	FINE GRADING	U	1.00	\$2,700.00	\$2,700.00	\$4,000.00	\$4,000.00	(\$1,300.00)
304.301	CRUSHED GRAVEL	CY	35.00	\$95.00	\$3,325.00	\$75.00	\$2,625.00	\$700.00
304.35	CRUSHED GRAVEL FOR DRIVES	CY	5.00	\$152.00	\$760.00	\$100.00	\$500.00	\$260.00
304.399	TEMPORARY CRUSHED GRAVEL	CY	20.00	\$86.00	\$1,720.00	\$100.00	\$2,000.00	(\$280.00)
403.11023	HBP-3/4" BINDER MIX, MACHINE METHOD	TON	60.00	\$268.00	\$16,080.00	\$275.00	\$16,500.00	(\$420.00)
403.11043	HBP-1/2" SURFACE MIX, MACHINE METHOD	TON	28.00	\$268.00	\$7,504.00	\$275.00	\$7,700.00	(\$196.00)
403.12	HBP-HAND METHOD	TON	2.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$0.00
403.16	PAVEMENT JOINT ADHESIVE	LF	245.00	\$10.00	\$2,450.00	\$10.00	\$2,450.00	\$0.00
403.19	HBP-TEMPORARY	TON	27.00	\$372.00	\$10,044.00	\$300.00	\$8,100.00	\$1,944.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	26.00	\$16.00	\$416.00	\$25.00	\$650.00	(\$234.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	150.00	\$52.00	\$7,800.00	\$25.00	\$3,750.00	\$4,050.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$39,420.00	\$39,420.00	\$35,000.00	\$35,000.00	\$4,420.00
529.001	PRECAST CONCRETE BOX CULVERT	U	1.00	\$196,495.00	\$196,495.00	\$140,000.00	\$140,000.00	\$56,495.00



JACKSON

43312

NON-FEDERAL

				A-Bide	der	PS	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
583.002	RESET EXISTING RIPRAP	SY	55.00	\$69.00	\$3,795.00	\$70.00	\$3,850.00	(\$55.00)
585.2	STONE FILL, CLASS B	СҮ	5.00	\$149.00	\$745.00	\$100.00	\$500.00	\$245.00
585.3401	SIMULATED STREAMBED MATERIAL	СҮ	25.00	\$106.00	\$2,650.00	\$100.00	\$2,500.00	\$150.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON- WOVEN	SY	60.00	\$20.00	\$1,200.00	\$15.00	\$900.00	\$300.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	600.00	\$20.00	\$12,000.00	\$42.00	\$25,200.00	(\$13,200.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$16,440.00	\$16,440.00	\$25,000.00	\$25,000.00	(\$8,560.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,150.00	\$8,600.00	\$3,500.00	\$14,000.00	(\$5,400.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	50.00	\$10.00	\$500.00	\$10.00	\$500.00	\$0.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$2.00	\$4,000.00	\$0.80	\$1,600.00	\$2,400.00
641.	LOAM	СҮ	15.00	\$86.00	\$1,290.00	\$75.00	\$1,125.00	\$165.00
645.3	EROSION STONE	TON	30.00	\$41.00	\$1,230.00	\$50.00	\$1,500.00	(\$270.00)
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	50.00	\$9.00	\$450.00	\$5.00	\$250.00	\$200.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	200.00	\$9.00	\$1,800.00	\$7.00	\$1,400.00	\$400.00
645.531	SILT FENCE	LF	430.00	\$4.00	\$1,720.00	\$5.00	\$2,150.00	(\$430.00)
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,600.00	\$3,600.00	\$3,500.00	\$3,500.00	\$100.00



JACKSON

43312

NON-FEDERAL

		1		A-Bide	der	PS8	λE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	50.00	\$240.00	\$12,000.00	\$100.00	\$5,000.00	\$7,000.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$1,800.00	\$1,800.00	\$1,250.00	\$1,250.00	\$550.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	275.00	\$18.00	\$4,950.00	\$5.00	\$1,375.00	\$3,575.00
647.1	нимиз	СҮ	12.00	\$115.00	\$1,380.00	\$50.00	\$600.00	\$780.00
692.	MOBILIZATION	U	1.00	\$47,950.00	\$47,950.00	\$50,000.00	\$50,000.00	(\$2,050.00)
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$2,160.00	\$2,160.00	\$1,250.00	\$1,250.00	\$910.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

\$434,144.00

Total:

\$50,919.00

\$383,225.00